1 20km

2011 4 10 13 00

*1 GM( -

*2
*3 Nal(
*4

1 60k 4 10 8 30 03"
2 55k 4 10 8 53 2.6
3 45k 4 10 9 47 297
4 50k 4 10 9 14 197
5 45k 4 10 10 24 0.6 ™
6 35k 4 10 10 49 1272
10 40k 4 10 9 27 1.6
11 40k 4 10 9 35 197
20 45k 4 10 9 58 162
21 30k 4 10 10 24 5.9 "
22 35k 4 10 10 12 207
23 35k 4 10 10 50 1472
31 30k 4 10 10 00 128"
32 30k 4 10 10 38 252"




*1 GM(
*2
*3 Nal(
*4

36 40k 10 9 38 46"
37 50km 10 9 40 3.0
39 45km 10 10 10 097
74 35k 10 10 55 057
75 45k 10 10 33 057
84 40km 10 9 55 027
85 60km 10 6 00 047
86 55km 10 6 00 097
87 30km 10 6 00 1.6
101 55km 10 9 19 1.5




— . ERAOMISNSELNA = QLHY 21
(1 [N - Eﬁg i (101] || [371 || (3] [39]
: ™ : 15 30 || 29 0.9
] _¥;]i!E [5]
: 0.6
A S o
i & N N\ _
[36] ’
;ﬂ 6 | &
B e EnERRIL B AHE
r # = o ~ i
a | e |
i 12.8 [10]
16
: (1)
B 19 ST AILR KR E A
' Bt
| Cdg
) ™
ﬂl = o
(22] " S2AI0FM23 K& 2 A A
(86] [20] E
1 o9 16 20 ‘304/))
| \?0
ABE / - &
A . I
BERE o =it i
_ 'i1=-- | (57)
10km ‘
E [84] Vi 2
| 02 | 174) [75]
2 . 74
/i o

S A
4410
6X]00E~11A]00%
[32]
22 | SRR
[21]
59

SH2:0t013 2 AIH E A

ol

—

fo

B2 HEFS LHEFHTH



D
7
X

=

T
—
=

[x

=
4
M
e
fu
rir
ue
re
<
HU
1A
0x
ro
P}
fu
10
0z
0+
A
€
19
0o

EPNR RIS

Ol At At
—

=
- o

[250,0000t01 2 AIH E/&H 2]

re

50,000

&-F0tetitel 2
A2k THAI SO0llA)

[10,00000| R AIHE/12H =2 10,000

i

@
ﬂ

S0 A390 SAI01A290

[2,4000l0| A2 AIHE/H 2H] i ﬁ\

*
X0 A480 &I S

K ch= 0l Al 26// =

2 XA AR 2 XHOI(H 2t
(818 82X X012 =0

(NI B2)

o

A H*AM" (¢12h)

<;:b;umﬂ

E-==¥
(D=0l 28t

[2000t0| 32 AlH

MHel SEUAMS AL 22
LE0 28 BOHXI(A2h

[220t0| A2 AIHE /H 2H]
[10010| A2 AIH E /4 2H] =0 aaien

X Sv[AIHE]=2ZAID SF0 2t =S E= (%) x Gy [2al0l]
_|

AN2OUXE "X 2002"E 2FHSH0AM =Y

(Flo] A2 A B E)

250,000

100000 |« [1000OOD}OI3§AII:|; 2]

212EA ZALA B0 Q™ = Atst

=T =

U*AVS L2 SAA & &R0 2
KO H QIR Gl = Atst

[soooomoez/\llﬂ /2

B9 XM HEH OS
Sl AAHCTA ) (131)

6,9000t0| A2 AIHE/3]]

P

4TI

el
1,000[1 Ol A2 AIH E/2H]

?lo X8 Z=F & (1=l)

I 4[6000}0|3 2 A E/3I]

500012 = AIHE/3]]

s RO Xd FeAX(13])

[500t0I| A2 AIHE/&H2t]
o '| ANALHL(E L) T
e E.\_Lx|(043|-)
(AHOAE 0l SEXIS 2202 =1 2US)

X Xd, rdUlA=E 1





